Benzoic acid
Response Ratio

Amount Ratio

Resp Ratio = 1.94e-001 * Amt - 7.13e-002
Coef of Det (r"2) = 0.996 Curve Fit: Linear

Method Name: Z:\HPCHEM1\BNA_F\METHODS\8270-BF092815_M
Calibration Table Last Updated: Mon Sep 28 18:10:42 2015




2-Fluorobiphenyl
Response Ratio

Amount Ratio

R = -5.08e-002 A*A + 1.39e+000 A + 7.23e-002
Coef of Det (r"2) = 0.999 Curve Fit: Quadratic

Method Name: Z:\HPCHEM1\BNA_F\METHODS\8270-BF092815_M
Calibration Table Last Updated: Mon Sep 28 18:10:42 2015




Response Ratio

2,4-Dinitrophenol

Amount Ratio

R = 2.60e-002 A*A + 3.99e-002 A + 7.63e-003
Coef of Det (r"2) = 0.997 Curve Fit: Quadratic

Method Name: Z:\HPCHEM1\BNA_F\METHODS\8270-BF092815_M
Calibration Table Last Updated: Mon Sep 28 18:10:42 2015




Fluorene
Response Ratio

Amount Ratio

Resp Ratio = 1.11e+000 * Amt + 1.24e-001
Coef of Det (r"2) = 0.991 Curve Fit: Linear

Method Name: Z:\HPCHEM1\BNA_F\METHODS\8270-BF092815_M
Calibration Table Last Updated: Mon Sep 28 18:10:42 2015




Response Ratio

4,6-Dinitro-2-methylphenol

Amount Ratio

R = 8.26e-003 A*A + 7.27e-002 A - 4.22e-003
Coef of Det (r"2) = 0.996 Curve Fit: Quadratic

Method Name: Z:\HPCHEM1\BNA_F\METHODS\8270-BF092815_M
Calibration Table Last Updated: Mon Sep 28 18:10:42 2015




Phenanthrene
Response Ratio

Amount Ratio

Resp Ratio = 9.27e-001 * Amt + 8.01e-002
Coef of Det (r"2) = 0.999 Curve Fit: Linear

Method Name: Z:\HPCHEM1\BNA_F\METHODS\8270-BF092815_M
Calibration Table Last Updated: Mon Sep 28 18:10:42 2015




Di-n-butylphthalate

Response Ratio

Amount Ratio

Resp Ratio = 9.09e-001 * Amt + 6.30e-002
Coef of Det (r"2) = 0.996 Curve Fit: Linear

Method Name: Z:\HPCHEM1\BNA_F\METHODS\8270-BF092815_M
Calibration Table Last Updated: Mon Sep 28 18:10:42 2015




Terphenyl-d14
Response Ratio

3.5+

Amount Ratio

R = -3.63e-002 A*A + 7.56e-001 A + 7.38e-002
Coef of Det (r"2) = 0.997 Curve Fit: Quadratic

Method Name: Z:\HPCHEM1\BNA_F\METHODS\8270-BF092815_M
Calibration Table Last Updated: Mon Sep 28 18:10:42 2015




Chrysene
Response Ratio

2.4+

0 0.5 1 1.5 2 2.5 3
Amount Ratio

R = -2.27e-001 A*A + 1.48e+000 A - 6.64e-002
Coef of Det (r"2) = 0.998 Curve Fit: Quadratic

Method Name: Z:\HPCHEM1\BNA_F\METHODS\8270-BF092815_M
Calibration Table Last Updated: Mon Sep 28 18:10:42 2015




